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Analogy to Induction: 
Base Cases ≈ Establishing Invariants

Analogy to Induction:
Inductive Cases ≈ Preserving Invariants

Initializing the System
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PO of Invariant Establishment

K(c): effect of init’s actions

v’ = K(c): BAP of init’s actions

Components

Rule of Invariant Establishment Exercise: 
Generate Sequents from the INV rule.
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Discharging PO of Invariant Establishment
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PO Rule: Deadlock Freedom

Exercise: Generate Sequent from the DLF rule.
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Example Inference Rules > To prove the consequent, lie. consequent
it's sufficient to prove nothing. provedauto
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Discharging PO of DLF: First Attempt
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Understanding the Failed Proof on DLF

Unprovable Sequent: ⊢ d > 0
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Discharging PO of DLF: Second Attempt
added axiom:
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Summary of the Initial Model: Provably Correct

Correctness Criteria:
+ Invariant Establishment 
+ Invariant Preservation
+ Deadlock Freedom
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Bridge Controller: Abstraction in the 1st Refinement
m0:
initial, most abstract 

m1: 
second, more concrete 
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